%
A
E4
Y
}
b3
£

wc

AT=WATFIVARDVIyFI34>Y bUS

STAINLESS INSTANT FITTINGS US TYPE

B /\—7 1 =F ViEEHER

Internal Construction of Male Connector

6@4321

B TIVRI=F VS EHmER

Internal Construction of Male Elbow

RoHS
PO

Corresponding to the

RoHS Regulations

977

B BBV EDFEEIR

Cautions for Use

1. Fa—TJRBFEHRIDRBCHITFEVKR S (CTRRBERIET
LIEELY,
Do not bend the tube sharply from the point near the joint tip.
It is desirable to bend the tube at a point properly distant from the joint.

2. ATV UVARDVIYFI AV MIEESNIeF 2 —TZEAL
ZEn,
Do not use tubes than those apecified (soft nylon, nylon, urethane, fluoride
plastic, and flame-retardant tube) on the stainless instant fitting.

3. RERFFEZ RO PEF AN ZEIF A0CLUTOMICLTLIEE
(A
Avoid storing this unit in locations with high temperature or humidity.
Do not expose the direct straigt sun and store at 40C or more.

B EEREME
Main Part Materials
No ZFL  Part name &  Material
Push Ring
F7Ood—UYd
® Outer Ring SuUs316
Frvo
@ 2T SUS301
FvyImILT—
® Chuck Holée\r SuUs316
ASVE S DA -
® Packing N4 b (FKM) Viton
PN
® Body SUS316
QUvY o s
@ 5 Ring N1 b (FKM) Viton
LE&EH
Stop Ring Sus
Nipple Stoper
—wJIb
® Nipple SUS316
W {1
Specifications
BRI =LK
Fluid used Air, Water
fEREAN - 2
Working pressure O~1TMPa(1 Okgf/cm )
=13

Negative pressure

10Torr(— 100kPa)

/R

Working temperature

—15~120TC

BRIELEC E(Fa—TDOME. Y1 XIC
KOBRPEDET ) ERARMG ERF1—T
[CRDRIFDBEDRFDHBENGDET
DTHEERD L. ERATEL,

Not to be freezed. (May very depending on the
tube materials and sizes) The content of the
specification may vary depending on working
condition or the type of tube to be used.

HEEICKD XU TEZMMAEADD D DRI DTHBEEETE L.

Please inquire of us about delivery time.

HOBK ERIBRICALE U TIHERAREICHHINCEVNETOTHBRSGETEL.
Please make enquiries for more details whenever using the tubing
for warm water, chemicals, and solvents as various apply in usage.

W ERFa—7
Applicable Tube
Z—»ﬂ:wac:—j‘ AX-1200.F-1500
ylon Tubes
Ebﬁv?l—j U-9500. U-9200.ARU
olyurethane Tubes
TATJLyIRAFa—T ecos. ecoh, ecoh (wr)
eco-flex tubes
BoEBEFa1—T FE
Fluorine Resin Tubes
HAF1—T SR

Flame-Retardant Tubes




B RBRTTE

How to Designate

US

H - 04

oM

vy ¥

US Series Name

F=IVATF I UVARO I IYFIaAU s
US# 1 7S (SUS316H)

| A-NATIVRAETYFyF 31N |

¥

7=l

Part No. of Standard Type
IN—=D1=F> Male Connector
] V) rom Rl % Male Elbow
mOTILIRI=AY Union Elbow
YEIIZHY Y Type Union
TRIO=F T Type Union
AR—bazZFY Equal Union

NILo~Ny R1Z=HY

Bulkhead Union

CEl1—=HV C Type Connector
DEIO=HFY D Type Connector
MENDWIESZEEERTYT .

%% : Production on order.

Applicable Tube O.D.

BAF1—-T5%Ee

o4
6
8
®10
912

W R MV

RLY1X

Screw Size

(

WS UEL
No Set Screw
M5x0.8
R(PT)1/8
R(PT1/4
R(PT)3/8
R(PT)1/2

Recommended Tightening Torque

R1/8 7~9

R1/4 12~14
R3/8 22~24
R1/2 28~30

149



%
A
E4
Y
}
i
ES

wc

150

| A-NATVVRAETYSYFIa{YNS | \—T2=FY USH - TILRI=# USL

(unit : mm)
— ~
IN—=D1=%> wy  |EEFI-TSE0| AU BIvR | HE
Mal nnector Applicable Tube | Connecting Screw HEX L A B Minimum (g)
Ua:Se I_CIJO ecto Model No. oD, e oporing | Mass
USH-045M M5X0.8 10 215 4 16 25 9
- EA425DA-41| USH-041 4 1/8 10 21 8 16 25 6.5
e — EA425DA-42 | USH-042 1/4 14 19.5 11 16 25 10
k=1 b USH-065M M5X0.8 12 235 4 17.5 25 15
q EA425DA-61| USH-061 ] 1/8 12 23 8 17.5 4 1.5
| ]
i é EA425DA-62 | USH-062 1/4 14 235 1 17.5 4 16.5
EA425DA-63| USH-063 3/8 17 21 12 17.5 4 24.5
R(PT) B HEX USH-081 1/8 14 275 8 19 6 18
N\ EA425DA-82 USH-082 8 1/4 14 26.5 11 19 6 18
] EA425DA-83 USH-083 3/8 17 22 12 19 6 24
T EA425DA-102 514 102 1/4 17 325 11 215 8 24
] FA425DA-103 g1 103 10 3/8 17 285 12 215 8 28.5
A EA425DA-104 51 104 172 22 265 15 215 8 45
L USH-123 3/8 19 30.5 12 23 10 315
12
USH-124 1/2 22 29.5 15 23 10 48
B HE X
M55 A
M5 Type
L
(unit : mm)
. s
TILIRAZ=F Y pg | EREFITNE0| AU e | BE
Male Elbow Modl No Applicable Tube | ConnectingScrew | HEX | L1 L2 A B C | Minimum | (g)
USL : 0.D. R(PT), M opening | Mass
USL-045M M5X0.8 | 12 | 225 | 18 4 16 | 12 2.5 27
USL-041 4 1/8 12 | 245 | 18 8 16 | 12 2.5 27
. d USL-042 1/4 14 | 275 | 18 | 11 | 16 | 12 2.5 27
."{' e USL-065M M5X0.8 | 12 | 235|205 | 4 | 175 | 12 4 26.5
g * USL-061 1/8 12 | 255 | 205 | 8 | 175 | 12 4 28 [EA425DC-61
Sl 6
| USL-062 1/4 14 | 285|205 | 11 | 175 | 12 4 35 EA425DC-62
USL-063 3/8 17 | 205 | 205 | 12 | 175 | 12 4 46.5 EA425DC-63
L2
- USL-081 1/8 14 | 265 | 235 | 8 19 | 14 5 385
USL-082 8 1/4 14 | 295 |235| 11 | 19 | 14 6 425 EA425DC-82
1 ] L 1 USL-083 3/8 17 315 | 23.5 12 19 14 6 54 EA425DC-83
)ll T USL-102 1/4 17 | 315 | 27 | 11 | 215 | 17 8 62 EA425DC-102
~— USL-103 10 3/8 17 | 33 | 27 | 12 | 215 | 17 8 70.5
, [ 8 USL-104 1/2 22 | 38 | 27 | 15 | 215 | 17 8 94.5
3 [ I USL-123 3/8 22 | 345 | 29 | 12 | 23 | 22 10 118
12
— HEX USL-124 1/2 22 | 375 | 29 15 23 22 10 133.5
<T
R (PT)
M55 47
M5 Type
<



0807
テキスト ボックス
EA425DA-41



0807
テキスト ボックス
EA425DA-42



0807
テキスト ボックス
EA425DA-61



0807
テキスト ボックス
EA425DA-62



0807
テキスト ボックス
EA425DA-63



0807
テキスト ボックス
EA425DA-82



0807
テキスト ボックス
EA425DA-83



0807
テキスト ボックス
EA425DA-102



0807
テキスト ボックス
EA425DA-103



0807
テキスト ボックス
EA425DA-104



0807
テキスト ボックス
EA425DC-61



0807
テキスト ボックス
EA425DC-62



0807
テキスト ボックス
EA425DC-63



0807
テキスト ボックス
EA425DC-82



0807
テキスト ボックス
EA425DC-83


0807
テキスト ボックス
EA425DC-102





mOI)LiRd1Z=F>

Union Elbow
EA425DC-4
EA425DC-6
Asmy EA425DC-8
- EA425DC-10
EA425DC-12
L2
B
A
| I L |l
N
R
[ g
_ | |
| |
| |
L
e

YERIa=FY
Y Type Union
usy

BfiREe4.2
Panelhole ¢4.2\,

gE

WOTILRI=AY USF - YRI=FY USY | 2-IATYLARTYFyFIa( VS |

(unit : mm)
USF-040 4 19 16 12 2.5 24
USF-060 6 21.5 17.5 12 4 23.3
USF-080 8 24 19 14 6 33
USF-100 10 27.5 21.5 17 8 55.5
USF-120 12 30 23 22 10 105.5

(unit : mm)

USY-0404 4 39 16 24.5 10.5 16.5 12 25 41

USY-0606 6 42.5 17.5 24.5 12.5 17 12 4 5515

USY-0808 8 48 19 28.5 14.5 17.5 14 6 38.5

USY-1010 10 55 21.5 34.5 17.5 20.5 17 8 86.5
KENDHIESRFEERTI .

% ! Production on order.

151


0807
テキスト ボックス
EA425DC-4


0807
テキスト ボックス
EA425DC-6



0807
テキスト ボックス
EA425DC-8



0807
テキスト ボックス
EA425DC-10



0807
テキスト ボックス
EA425DC-12




0
A
4
F
F
ES

wc

| A-NAFYVABTYyFI34YMS | TRA=AY UST - RhL—h1=7 USS

TEIOZ=FY
T type Union

UST

EA425DE-4
EA425DE-6
EA425DE-8
EA425DE-10

A= Z=FY

Equal Union

USS

EA425D-4
EA425D-6
EA425D-8
EA425D-10
EA425D-12

(unit : mm)
UST-040 4 19 16 12 2.5 29.5
UST-060 6 21.5 17.5 12 4 29.5
UST-080 8 24 19 14 6 40
UST-100 10 27.5 21.5 17 8 67
UST-120 12 30 23 22 10 124

(unit : mm)

USS-040 4 34 16 10 2.5 11.5
USS-060 6 37 17.5 12 4 16.5
USS-080 8 40 19 14 6 215
USS-100 10 45 21.5 17 8 34.5
USS-120 12 48 23 20 10 47



0807
テキスト ボックス
EA425DE-4



0807
テキスト ボックス
EA425DE-6



0807
テキスト ボックス
EA425DE-8



0807
テキスト ボックス
EA425DE-10



0807
テキスト ボックス
EA425D-4



0807
テキスト ボックス
EA425D-6



0807
テキスト ボックス
EA425D-8



0807
テキスト ボックス
EA425D-10



0807
テキスト ボックス
EA425D-12




JULOAYRIZHY USX - CRII=#Y USG - DRI=4> USD | #=IATYLARDYSyFIa4 NS |

(unit : mm)
" e — ~
NIVONYRIAZF Y pg | EAFI-T9NED BT | B HE
Bulkhead Union VI Applicable Tube HEX L B E Panel | Minimum MXP (g)
U S X : 0.D. hole opening Mass
EA425DF-4 USX-040 4 14 33.5 16 4 13 25 M12X1.0 | 19.5
EA425DF-6 USX-060 6 17 365 | 17.5 6 15 4 M14X1.0 | 285
. EA425DF-8 USX-080 8 19 40.5 19 9 17 6 M16X1.0 | 38
USX-100 10 23 455 | 215 | 115 21 8 M20X1.0 | 63.5
USX-120 12 26 485 23 115 23 10 M22X1.0 | 785
HEX 5
L
CEBlO—-F*~ DERI=FY OERF 1—J (511®)
Applicable Tube O.D.
C Type Connector D Type Connector 4~12mm
@EmAL
—— Connecting Screw R(PT), M
T M5x0.8~1/2
[
Cl HEEERABEAE TS,
L2 Please inquire of as about details.

153


0807
テキスト ボックス
EA425DF-4



0807
テキスト ボックス
EA425DF-6



0807
テキスト ボックス
EA425DF-8




90

/\ EBEEROLEIEEE

A\ ERLEDER

1. A% 07 OERFHEERN CEE. RS EHE) TTEALIEEL,

2. BEBICK O CIFERIEELF 12— TR TS ATF v JRICREN. ERHROEDEEATEEVEENSD FT,
TSAFYIFa1—TICOVTR ENZENDF 21— T Ay OJ DERBEEZRFEEL,

B HREICKO>TRTISAFYvIF1—THADE. A VY — IV IZFERULEIINEED T A

4. FVVDRELTVBRECTOTERAIF SHEBKEE L,

5 BERZEDREPESH NGB TTERLIEE,

6. BEDIREICEZEHIND DEENDED T IEBIF T REEVHBFDEE . ER P QUDRBRHIDRET DIRERELEDET,

7. MFMEZEERTREPRIECOEASRIT T EE L,

8. A5 NEPE MDA AR UBRIADBE(C & RECRHEHHOREEAICH T 2LZ2MZ T2 (CEE. 3D S X SEALEEL,

9. MFDEER CIFENZILDFERENENC L 2R UREL T IZE .

10. FFOEID AT PERDOAUICKRU TIE =)L EORIFAFERDRNT L IEE L,

1.y bEfTTDRORINF Ty MRERICE 2 cbDZEER LTI EE L,

12. $FOMORITAEZEZ DHEE MTRFDT v MEEHTHSAAZEEZ T EEL,L. (AW.BW)

13. BFF R UEE AN — R DIRWGEH T T BB DSBS & RFERZTV i T REICE STENL SFER L TLIEE L. (AW.BW)

14. 12 UBRZ i< 1F D & EERT T ML I ICTHRS I T IZE W,

15. R UERZ it 1T DB EENZIMAFNTLTZE L,

16. F 1 —J DEREFTOBEREZERHICE. ENZTNOF 1 —TR/IHEHIFFEUTICESEVKR S [TERULTEEL T ZEL,

7. F1—JRBERAF1—THyy—ZAVT.EBICYILTLIZE L,

18. F 1 — T DEAIMFAEDRE L TE TRRICIT > TLREVSFEATEFRENPRIFORRICED X,

19. BHBRUADTSAF v IF 1—TZSHEAICHEONDHEICE. F 1— T OARTERUREREZL T TR EE0,

20. MFDEEFFRE TR EREZHIET 2HEE . BLENHZRICMHO STENK S CLTLIZE L,

21 MFDEEFFRE TR ERZHHE LRI HRE D ORNDMENC EZER LT IZE 0,

2. REFERZROFCESH BN ZEIF . A0CUTORICLTLIEE L,

B ANTFAREET v hEEY FUERETREULCTKREVIIS NS ICEND EV—ILMUENMEDE  BERARPRENORERREED X T,

24, HERE(C & o TIFMEREREDB LW E (SUS3 1 6/t) ZERA L TH D X TH. it SEUD RS IREMDH D T,
i BORBEAZ BT TIIZE L,

A\ #F. SREEOES

1. HEBORT RS A FEEEZER U COREENDTO)CE o e T EZHER L THh BT TLIEE L.
T REDREDEEICIERERD ICTHBRULTLIZE L,

2. MO [T LTV (VL TEH) OB DR BELIEVE BEECIDBFOREHEERICEDIENGDET,
KIGZET DERRENGODRTDTERLTLIEE L,

3. FBEEm DD ERPUNEIF LBV T L EE VI BEDIREEIFHRIF L IED X T,



& Common notes of printed products

& Cautions for use

1.Please use the products within the limit of specifications indicated in this catalogue.
(temperature range for use, working pressure, fluid used, etc.)
2.As for some types of model, connectable tube is restricted to the plastic one, metallic tube cannot be used.
Please comply strictly with the range of use conditions indicated in each catalogues of the plastic tube.
3.As for some types of model, using insert ring together is required when using the plastic tube.
4.Please consult us about use in the environment where ozone is generated.
5.Please avoid use in the environment of high temperature and humidity, and under direct sunshine.
6.Please avoid the installation to the device which excessive vibration or shock are applied.
It may become the cause of the damage or transformation of fitting, or the loosing of the screw.
7.Please avoid use with/in the fluid or environment that damages the material of the fitting.
8.In using inflammable and/or toxic gas/liquid, please consider and confirm enough the environmental and human safety in the case of
emergency scattering or accidental spillage before use.
9.Before plumbing please stop pressure and make sure there is no residual pressure.
10.Please be sure to remove dregs, such as seal material, when connecting or disconnecting the fitting.
11.When tightening the nut, please use the spanner suitable for the diameter of the nut hexagon.

12.When changing the attachment angle of the fitting, please be sure to change the direction after loosening the nut of the fitting. (AW, BW)

13.If the tightening work is difficult in the high or narrow piping space, do temporary tightening work, and be sure not to become the shortage

of tightening. (AW, BW)

14.Please tighten the screw with proper tightening torque.

15.When tightening the screw, please do not apply pressure.

16.When connecting tubes, please keep enough length of margin. Please plumb tubes with taking care not to fall below the minimum
bending radius.

17.Please cut the tube perpendicularly with the exclusive tube cutter.

18.Please insert the tube to the end of the main body of fitting surely. Insufficient insertion becomes cause of leaking or coming out.

19.Please be sure to confirm the outside diameter size and the manufacturing tolerance of the tube when using tubes other than our
company’s products.

20.When supplying the air after plumbing please be sure not to apply high pressure suddenly.

21.When supplying the air after plumbing please confirm there is no leakage at the connected part.

22.For storage avoid the place of high temperature or high humidity and the direct sun light, and keep at a place of 40°C or less.

23.Please be sure to store the main body in the state that the nut was set to. Separately storing may damage a seal position and cause the
bad connection and the leakage.

24.Though some types of model are utilizing materials having high corrosion resistance performance (SUS316 etc.),
rust may be caught from others.

Please avoid product mixing of other materials.

& Cautions for maintenance check

1.Before the maintenance check of the product, please intercept the circuit and confirm that the fluid pressure becomes “0”.

In addition, please take care about liquid accumulating if the fluid used is liquid.
2.When the operation switch frequency of the installed equipment(valve etc.)is short,

the surface of the fitting might become a high temperature by the shock pressure. Please pay attention to the danger of the burn.
3.Please do not carry out decomposition or reconstruction of composition parts of the fitting.

The function of such a product cannot be guaranteed.

91



	aoi_products_catalog_page150_US仕様1
	aoi_products_catalog_page151_US仕様2
	aoi_products_catalog_page152_US寸法1
	aoi_products_catalog_page153_US寸法2
	aoi_products_catalog_page154_US寸法3
	aoi_products_catalog_page155_US寸法4

